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PRIDE AND PREJUDICE

TEST ANSWER KEY LEVEL °

1 Jane Bennet

2 Llizabeth Bennet
3 Mr Darcy

4 Mr Bingley

5 Mr Bingley
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1f 2a Je 4b 5¢ 6d

has never met
might have to
cannot inherit
has asked to

wants to help
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1s not

1F 2T 3F 4T 5T

1 Elizabeth is surprised and knows she wilt
won’t be happy with him.

2 Mrs Bennet is sad happy and says
Elizabeth must must marry him.

3 Mr Bennet says he won’t see Elizabeth

again if she doesn’t mrarry marries him.
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1 One thousand pounds.

2 Becoming a clergyman.

3 Nothing — he didn’t study or make a

good life.

4 He lied about him to Darcy and tried to

ruin his life.

5 His sister Georgiana.

6 To marry Georgiana for her money.

1f 2¢g 3b 4c
5¢ 6h 7a 8d

1d 2b 3c 42

1 to 2 Only
4 not 5 much
1 must 2 may
4 should 5 can

1Ta 2a 3d 4 c

1 Elizabeth and Darcy
2 Jane and Bingley
3 Lydia and Wickham

1 happy 2 careful
4 painful 5 unkind
7 unfriendly 8 helpful

1 estate 2 regiment
4 piano 5 cards

1 privately 2 casily

4 loudly 5 quietly

5b 6 c

3 again

6 nothing

3 could
6 should not

5¢ 6b

3 unlucky

6 wonderful

3 carriage
6 officer

3 angrily
6 happily
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